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Comparing Simple and Compound Interest
Suppose that $5,000 is invested for 3 years at 8%. I: 0
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Formula for Computing Compound Interest

A=p@+ﬁ)

where A is the future value (principal + interest)
r 1s the yearly interest rate in decimal form

n is the number of times per year the interest is
compounded

t is the term of the investment in years

Example 3 Computing Compound Interest PS#?WO

Find the interest on §7,000 compounded quarterly at 3% for 5 years. r=0 03
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Example 4 Computing Compound Interest - |
Find the interest on $11,000 compound@ﬁt 5% for 6 years. 5 3
Assume a 365-day year. r. — 0| 0 N = 6
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Finding the Time Needed to Reach an
Investment Goal
Pz 3000

Ify u want t $5000bf e buyi gy f st new car, and you
ve $3,000 ri gh ow t at 3% i compounded monthly,
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The effective rate (also known as the annual yield) is the simple
interest rate which would yield the same future value over 1 year as

the compound interest rate.

The next formula can be used to calculate the effective interest rate.

Formula for Effective Interest Rate

E=(1+5)—1
n

where

E = effective rate

n = number of periods per year the interest is calculated

r = interest rate per year (i.e., stated rate)

S eyl Yl Finding Effective Interest Rate

Find the effective interest rate when the stated rate is 4% and the interest
is compounded weekly, then describe what your result means.
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D€Ll Comparing the Effective Rate of Two / 1
Investments E - J 4— - -_— )
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Which savings account is a better investment: 6.2% compounded daily or
6.25% compounded semiannually?
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